#### NOTICE OF CONTRACT AWARD

#### May 6, 2022

Tito Contractors, Inc. 7308 Georgia Ave, NW Washington, DC 20012

Telephone: 202.291.2255

Email: bids@titocontractors.com

Contract Representative: Karen Johnson/LB

Email: Karen.Johnson@pgcps.org

Technical Representative: Tammy Higgs-McCarroll

Email: thiggs@pgcps.org

RE: DCP22-26 under the RFP 005-14 Interior Doors Replacement (Paint Branch ES)

Dear Mr. Pierola:

<u>Tito Contractors, Inc.</u> has been selected as the vendor to provide services in accordance with the above-mentioned <u>DCP22-26 under the RFP 005-14 Interior Doors (Paint Branch ES)</u>. This contract sets forth the terms and conditions and is provided for your review and acceptance. Any changes or additions made by your company must first be accepted by Prince George's County Public Schools before this contract is valid.

The intent of this contract is to provide the Board of Education of Prince George's County with an expedited means of procuring qualified construction services at the lowest responsible cost. This contract is for the convenience of the Board and is considered by the Board to be a "Non-Exclusive" use contract. The Board does not guarantee any usage. The Board will not be held to purchase any particular Brand, in any groups, prices or discount ranges.

Until this contract is fully executed and a **Notice to Proceed** is issued by the Department of Capital Programs, authorization for mobilization or commencement of work is forbidden. Please find attached the Notice of Award (NOA) for the above referenced contract. Please sign and date the NOA in adobe. Your firm's current Certificate of Liability Insurance, Payment and Performance Bonds (if applicable) should be mailed to the Office of Purchasing and Supply Services within ten (10) business days. The Certificate of Liability Insurance should be project specific (if applicable), Payment and Performance bonds (if applicable), shall be made in favor of the Board of Education of Prince George's County, Upper Marlboro, Maryland and provide proof that the coverage has been paid.

The Director of Purchasing and Supply Services will execute the NOA upon review and acceptance of required documents electronic submittal. The electronic file will serve as the official executed Notice of Award.

#### **iSUPPLIER REGISTRATION**

All vendors must be registered in iSupplier in order to conduct business with PGCPS. Vendors must provide an electronic copy of the PGCPS Registration Approval Notice within two (2) days of providing the vendor signed Notice of Award. Email should be sent to the list of recipients from the electronic request. If your company is not properly registered as a vendor, PGCPS will not sign the contract. Further, failure to register in iSupplier within the time period specified, shall rule your offer null and void. PGCPS reserves the right to rescind the award notice issued in favor of your company and award the contract to the next lowest responsive bidder.

#### PERFORMANCE/PAYMENT BOND

A 100% Performance Bond and 100% Labor and Material Payment Bond or Certified Check in the amount of \$257,444.00 made in favor of the BOARD OF EDUCATION OF PRINCE GEORGE'S COUNTY, UPPER MARLBORO, MARYLAND, must be submitted to the Office of Purchasing and Supply Services in Room 20 with the returned signed NOTICE OF AWARD WITHIN TEN (10) DAYS.

#### **INSURANCE**

Certificate of Insurance, made in favor of the **BOARD OF EDUCATION OF PRINCE GEORGE'S COUNTY, UPPER MARLBORO, MARYLAND,** must be submitted to the Office of Purchasing and Supply Services in Room 20 with the returned signed NOTICE OF AWARD WITHIN TEN (10) DAYS. The Certificate should reference the bid number and project name as it appears on this contract document. It will be the responsibility of the Contractor to ensure that a <u>current</u> Certificate of Insurance in compliance with <u>DCP22-26 under the RFP 005-14 Interior Doors (Paint Branch ES)</u> is on file with the Office of Purchasing and Supply Service (Construction Procurement) during the entire period of the contract.

#### **CONTRACT AWARD AMOUNT**

The award amount is not to exceed

\$257,444.00

THIS NOTICE OF AWARD IS NOT AN ORDER TO COMMENCE SERVICE/WORK at this time. Commence service/work only after receipt of Notice of Award issued.

#### **CONTRACT TERM**

The term of the contract will be for one year from the date of Notice of Award is executed.

#### LIQUIDATED DAMAGES/FAILURE TO PERFORM WORK

The successful respondents accepts this contract with the understanding that should they fail to complete the work in an acceptable manner and in the time stated, shall be subject to the payment of liquidated damages as stated in the proposal document.

This contract requires the contractor to make good faith efforts to comply with the Minority Business Enterprise ("MBE") Program and contract provisions. The Board and the Contractor acknowledge and agree that the Board will incur damages, including but not limited to loss of goodwill, detrimental impact on economic development, and diversion of internal staff resources, if the Contractor does not make good faith efforts to comply with the requirements of the MBE Program and MBE contract provisions. The parties further acknowledge and agree that the damages the Board might reasonably be anticipated to accrue as a result of such lack of compliance are difficult to ascertain with precision.

Therefore, upon a determination by the Board that the Contractor failed to make good faith efforts to comply with one or more of the specified MBE Program requirements or contract provisions, the Contractor agrees to pay liquidated damages to the Board at the rates set forth below. The Contractor expressly agrees that the Board may withhold payment on any invoices as a set-off against liquidated damages owed. The Contractor further agrees that for each specified violation, the agreed upon liquidated damages are reasonably proximate to the loss the Board is anticipated to incur as a result of such violation.

- a. Failure to submit each monthly payment report in full compliance with COMAR 21.11.03.13B (3): \$35.00 per day until the monthly report is submitted as required.
- b. Failure to include in its agreements with MBE subcontractors a provision requiring submission of payment reports in full compliance with COMAR 21.11.03.13B (4): \$85.00 per MBE subcontractor.
- c. Failure to comply with COMAR 21.11.03.12 in terminating, canceling, or changing the scope of work/value of a contract with an MBE subcontractor and/or amendment of the MBE participation schedule: the difference between the dollar value of the MBE participation commitment on the MBE participation schedule for that specific MBE firm and the dollar value of the work performed by that MBE firm for the contract.
- d. Failure to meet the Contractor's total MBE participation goal and subgoal commitments: the difference between the dollar value of the total MBE participation commitment on the MBE participation schedule and the MBE participation actually achieved.
- e. Failure to promptly pay all undisputed amounts to an MBE subcontractor in full compliance with the prompt payment provisions of this contract: \$100.00 per day until the undisputed amount due to the MBE subcontractor is paid.

Notwithstanding the use of liquidated damages, the Board reserves the right to terminate the contract and exercise all other rights and remedies provided in the contract or by law. The successful respondents accepts this contract with the understanding that should they fail to complete the work in an acceptable manner and in the time stated, shall be subject to the payment of liquidated damages as stated in the proposal document.

## **AVAILABILITY OF FUNDS**

This contract shall be deemed executory only to the extent of appropriations available to the BOARD for the purchase of such articles. The obligation of the BOARD on all contracts, including those which envision funding through current and successive fiscal years, shall be contingent upon actual BOARD appropriations, including approval of this contract award for funding by the Interagency Committee on Maryland Public School Construction, for the fiscal year(s) involved.

# FINGERPRINTING AND CRIMINAL BACKGROUND CHECKS

# **Employees Having Direct Contact with and/or Uncontrolled Access to Students:**

- A. Any and all current and future employees of the Vendor who have direct contact with students must have a fingerprinting criminal background check conducted by the Maryland Criminal Justice Information System (CJIS) and the FBI, a Child Protective Services clearance conducted by the Prince George's County Department of Social Services, and complete the SafeSchools training module Prince George's County Child Abuse: Mandatory Reporting and any other required training as appropriate.
- B. All background checks must be completed 15 business days prior to beginning work in and around PGCPS property or engaging in any authorized activities involved PGCPS students. The background checks must be completed by the Fingerprinting Office in the Sasscer Administrative Building or by the PGCPS satellite fingerprinting offices located in Prince George's County. No person may begin working in PGCPS until 15 days after completing the background clearance process (fingerprint and CPS) and required online training through SafeSchools.
- C. Prior to initiating any work at a school building, current and future employees, contractors, subcontractors, agents, volunteers, outsourced temporary staff, consultants and instructors of the Vendor must sign in and

sign out via the Raptor Visitor Management System, which requires a copy of their government issued identification.

D. Pursuant to Md. Education Code Ann. §6-113.2 (Code), a contractor of a Board of Education who provides a services to a school or the students of a school shall meet the requirements set forth for screening its employees assigned to work at a school site to determine whether such employees have a history of child sexual abuse and/or sexual misconduct. Consultant shall be solely responsible for completing the screening set forth in the Code, shall maintain records of employee screenings, and shall make such records available to PGCPS upon request.

### **Restrictions on Employee Assignments:**

Vendors are prohibited from assigning the following persons from working at a PGCPS location:

- A. Registered sex offenders (Maryland Code, Criminal Procedure Article Section 11-722)
- B. Individuals convicted of a crime involving third or fourth degree sexual offence under sections 3-307 or 3-308 of the Criminal Law Article; child sexual abuse under Section 3-602 of the Criminal Law Article; a crime of violence as defined in Section 14-101 of the Criminal law Article; or comparable offenses in another state. (Annotated Code of Maryland, Education Article Section 6-113)
- C. Individuals identified as an alleged abuse or neglector following completion of a Child Protective Services investigation with a finding of "indicated" child abuse or neglect.

#### CRIMINAL BACKGROUND CHECKS

#### 1. **GENERAL PROVISIONS**

- A. It is the responsibility of the Vendor to make certain that its employees, contractors, subcontractors, agents, volunteers, outsourced temporary staff, consultants and any instructors meet the background check and training requirements specified below.
- B. The Vendor agrees to provide the designated PGCPS representative with a list of all current employees and an immediate update of changes in personnel, employees, contractors, subcontractors, agents, volunteers, outsourced temporary staff and any instructors. All correspondence should include the following information as applicable:

i.title of the project

- ii. school/office
- iii. solicitation number
- iv. contract number; and
- v. PGCPS representative/project manager
- C. Executed task orders related to this contract will not be issued by the PGCPS Purchasing Department until proof has been provided that the background check and training requirements have been completed.

#### LAWS AND PERMITS

The contractor shall, without additional cost to the BOARD, be responsible for paying for and obtaining any necessary licenses, inspections and permits for complying with any and all FEDERAL, STATE AND LOCAL LAWS, CODES AND REGULATIONS, in connection with the performance of the work. Laws of the STATE OF MARYLAND and PRINCE GEORGE'S COUNTY shall govern the contract.

This notice of award and <u>all</u> documents associated with the solicitation will constitute the entire contract after acceptance by your firm and the BOARD. Please refer to <u>DCP22-26 under the RFP 005-14 Interior Doors</u> (<u>Paint Branch ES</u>) for applicable terms and conditions.

# PERSONALLY IDENTIFIABLE INFORMATION (PII)

Personally Identifiable Information includes any information that can be associated with or traced to any individual, including an individual's name, address, telephone number, e-mail address, credit card information, social security number, or other similar specific factual information, regardless of the media on which such information is stored (e.g., on paper or electronically) and includes such information that is generated, collected, stored or obtained as part of this Agreement, including transactional and other data pertaining to users. The parties will comply with all applicable privacy and other laws and regulations relating to protection, collection, use, and distribution of Personally Identifiable Information. In no event may PII be sold or transferred to third parties, or otherwise provide third parties with access thereto. If there is a suspected or actual breach of security involving Personally Identifiable Information, the parties will notify each other within twenty-four (24) hours of a management-level employee becoming aware of such occurrence.

# COVID-19: VACCINE AND TESTING REQUIREMENTS AND ON-SITE PROGRAMMING BY NON-PGCPS EMPLOYEES

Effective <u>September 13, 2021</u>, or at any time during the term of this Contract in which services commence by any intern, volunteer, vendor, contractor or employee of Partner (referred to herein as "Partner's staff"), PGCPS will require proof of vaccination against Covid-19 or weekly proof of a negative Covid-19 test [with results obtained within seventy-two (72) hours] each Monday for unvaccinated Partner's staff who are providing services on-site at a PGCPS facility.

- A. Unless otherwise stated and to the extent possible, Partner's services shall be rendered virtually during the term of this Contract or until such time that PGCPS authorizes in-person services by Partner.
- B. In the event Partner's services must be provided at a PGCPS site (not virtually):
  - 1. Partner's staff shall be required to provide confirmation of vaccination to the designated PGCPS Point of Contact (i.e. principal/designee or responsible department/office representative) who is responsible for ensuring that the scope of services are completed.
  - 2. Partner's staff shall be required to submit a list or other documentation of all Partner's staff who are vaccinated prior to the initiation of services. During the term of the Contract, Partner shall be responsible for supplementing this list for any new Partner staff assigned to provide services under this Contract prior to the Partner's staff's start date of services.
  - 3. Unvaccinated, staff providing services at a PGCPS site must present proof of a negative Covid-19 test taken within seventy-two (72) hours to the designated PGCPS Point of Contact (i.e. principal/designee or responsible department/office representative) who is responsible for ensuring that the scope of services are completed. Contractor shall be responsible for providing results from pharmacies and labs that are accredited to administer Covid-19 testing. Results obtained from home Covid-19 testing kits will not be accepted and shall not meet the requirements of this Contract.

- 4. Partner shall be required to submit a list or other documentation of all Partner's staff who tested negative by the close of business each Monday. If Monday is a holiday, then the list or other documentation must be submitted on the next day in which schools are open by close of business. This requirement shall continue each week during the term of this Contract.
- 5. PGCPS will not be responsible for testing Partner's staff. Failure to provide proof of negative results will bar Partner's staff from providing in-person services at a PGCPS site until such time as the information is presented.

ACCEPTED BY:						
FOR THE FIRM:		FOR THE BOARD OF EDUCATION:				
O EDT)	May 6, 2022	keith.stewart@pgcps.org keith.stewart@pgcps.org (Jun 1, 2022 14:	Jun 1, 2022			
SIGNATURE	DATE	SIGNATURE	DATE			
Kenneth Brown		Keith Stewart				
NAME		NAME:				
General Manager		Director, Purchasing & Supply Services				
TITLE		TITLE				
Tito Contractors, FIRM NAME	Inc	FOR THE BOARD OF EDUCATION OF PRINCE GEORGE'S COUNTY				

Jun 1, 2022



7308 Georgia Avenue NW Washington, DC. 20012

**JOB OWNER** 

Phone: 202 291 2255 - Fax: 202 726 0495

13300 Old Marlboro Pike, Room 20

Attn.: Daniel Marks - (202)216 -1737

Upper Marlboro, MD 20772

PRINCE GEORGE'S COUNTY PUBLIC SCHOOLS

# **PROPOSAL**

DATE Proposal # 4/18/2022 2021-2146

# JOB ORDER CONTRACTING SERVICES

#### **JOB NAME / ADDRESS**

#### PAINT BRANCH ELEMENTARY SCHOOL

5101 Pierce Avenue College Park, MD 20740 Interior Doors Repacement

We propose to furnish the necessary construction services, tools, equipment, safety equipment, supervision to perform the following work at Paint Branch Elementary School

QTY	LINE NUMBER	DESCRIPTION	CREW	UNIT	EST. TOTAL O&P	COEFFICIENT ADJUSTMENT OF TOTAL	ADJUSTED TOTAL	ADJUSTED TOTAL
61	80505102000	Door demo. frame included		E.A	80.00	0.94	75.20	4,587.20
1	805051009000	Door demo minimun labor/equipment charge		JOB	896.00	0.94	842.24	842.24
12	81416200740	Fire rated Wood Door Birch face 2'6"-6'8" - Double(6)		E.A	978.00	0.94	919.32	11,031.84
1	81416200000	Door installation labor/equipment charge		JOB	132.20	0.94	124.27	124.27
49	81416092110	Smooth Wood Door Birch face 2'6"-6'8" - (Single)		E.A	620.00	0.94	582.80	28,557.20
1	81416200000	Door installation labor/equipment charge		JOB	780.00	0.94	733.20	733.20
49	88120100100	Vision Lite		E.A	150.00	0.94	141.00	6,909.00
1	805051009000	Door demo minimun labor/equipment charge		JOB	896.00	0.94	842.24	842.24
243	87120802300	Hinges TA271426D 4 1/2"		E.A	22.27	0.94	20.93	5,086.91
12	87120550120	Push-Pull plates		E.A	67.88	0.94	63.81	765.69
61	87120950040	Kickplates		E.A	112.00	0.94	105.28	6,422.08
1	81416200000	Door kickplates labor/equipment charge		JOB	790.00	0.94	742.60	742.60
49	87120420010	Mortise Lockset MLY-A50-H21		E.A	2,795.00	0.94	2,627.30	128,737.70
1	81416200000	Door Mortise Lockset labor/equipment charge		JOB	790.00	0.94	742.60	742.60
61	87120501600	Door bumper floor stop		E.A	42.15	0.94	39.62	2,416.88
1	87120309000	Door hardware minimun labor/equipment charge		JOB	130.00	0.94	122.20	122.20
1	8141600000	Design		JOB	1,271.30	0.94	1,195.02	1,195.02
1	14126500010	Permit/Inspection		JOB	4,749.07	0.94	4,464.13	4,464.13
1	15436501500	Mobilization or demobilization delivery charge for equipment hauled		E.A	25,000.00	0.94	23,500.00	23,500.00
4	24119190950	Selective demolition, rubbish handeling dumpsters			800.00	0.94	752.00	3,008.00
1		Builder Risk Insurance			1,063.83	0.94	1,000.00	1,000.00
1		Payment and Performance Bond			5,613.00		5,613.00	5,613.00
1	12116500010	Allowances			20,000.00			20,000.00

TOTAL \$ 257,444.00